
Working Memory 

Long-Term Memory

Audiory Image
Store

κAIS = Physical

δAIS = 1500 [900-3500] ms

μAIS = 5 [4.4-6.2] letters 

Visual Image
Store

κVIS = Physical

δVIS = 200 [70-1000] ms

μVIS = 17 [7-17] letters 

Motor
Processor

τM= 70 [30-100]
ms

Perceptual
Processor

τp= 70 [50-200]
ms

Cognitive
Processor

τC= 70 [25-170]
ms

Eye movement =
    230 [70-700] ms

δWM (3 chunks) = 7 [5-34] s
κWM = Acoustical or Visual

μVWM = 3 [2.5-4.1] chunks
μWM* = 7 [5-9] chunks 
δWM = 7 [5-226] s

δWM (1 chunk) = 73 [73-226] s

κLTM = Semantic

δLTM = ∞
μLTM = ∞  

Hand movement by
    Fitts' Law


